
 

Lecture 12 Announcements
o First wiki articles due this Friday 2 11

Recall o No class Tuesday 2 15 rescheduled to

Friday 2 18 1 30 2 45pm SH 6635
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Furthermore the maximum is attained

From Kantorovich back to Monge
Questions

When does an OT map tix exist
When do the optima of Mongeand Kantorovich's problems coincide
When does tix tax for A convex
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Remark More generally the result
continues to hold for a VEPz Rd i.e
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respect to the square distance
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By defn of convex conjugate



f x goat is proper Isc convex

Likewise
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To see felt note that Young's
inequality implies
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Wow we have everything we need to

prove the Knott Smith optimalitycriterion
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By Kantorovich Duality Thm F
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By Double Convexification Lemma
F FELIM proper Isc convex where
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Thus equality must hold throughout
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Subtractingegn below
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Since Young's inequality guaranteesthe integrand is nonnegative it
must vanish 8D a e










